MATEMATIKA

7-8. évfolyamos tanulok szdmara
2. fordul6 - megoldokulcs

Osszpontszdam: 40 pont

1.) a) 800 (dm) (2 pont)
b) 354 liter (1 pont)
¢) 0,691 kg (1 pont)
d) 3,5 6ra (1 pont)
5 pont

2.) a) 48 km (1 pont)
b) 7/24 (2 pont)
c) 10 km, 5/24 rész (2 pont)
d) 5/24 (2 pont)

7 pont

3.) a) igen.
b) 40
c) 32
d) 63
(4x2p) 8 pont

4)a) 39

b) 20

c) 21
(3x2p) 6 pont

5.)a)5,7cm
b) 30,4 cm
c) 54,15 cm?

(3x2p — jo eredmény mértékegységgel) 6 pont

6.) a) lgaz
b) Hamis
c) Hamis
d) lgaz
4 pont

7.) @) (3x4x2=) 24
b) (2x3x1=) 6
(2x2p) 4 pont
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